

Available online at www.qu.edu.iq/journalcm JOURNAL OF AL-QADISIYAH FOR COMPUTER SCIENCE AND MATHEMATICS ISSN:2521-3504(online) ISSN:2074-0204(print)



# Bounds on the Initial Coefficients for New Subclasses of m-Fold Symmetric Bi-univalent Functions

## Iqbal Ali Hasoon<sup>a</sup> and Najah Ali Jiben Al- Ziadi<sup>b</sup>

<sup>a</sup> Department of Mathematics, College of Education, University of Al-Qadisiyah,Iraq. Email: lya175448@gmail.com

<sup>b</sup> Department of Mathematics, College of Education, University of Al-Qadisiyah, Iraq. Email: najah.ali@qu.edu.iq

#### ARTICLEINFO

Article history: Received: 29 /5/2024 Revised form: 21 /6/2024 Accepted : 23 /6/2024 Available online: 30 /6/24

#### Keywords:

Analytic function, Coefficient bounds, m-Fold symmetric analytic function, Bi-univalent function, m-Fold symmetric analytic biunivalent function.

#### ABSTRACT

The aim from this study is to propose and explore two new classes  $\mathfrak{BM}_{\Sigma_m}(\lambda, \delta; \alpha)$  and  $\mathfrak{BM}_{\Sigma_m}(\lambda, \delta; \beta)$  of  $\Sigma_m$  made up of bi-univalent functions that are *m*-fold symmetric and analytic which are defined within the unit disk  $\mathbb{U}$  that is open. For each functions that correspond to these subclasses we derive upper bounds for the coefficients  $|d_{m+1}|$  and  $|d_{2m+1}|$ . Many of the newly discovered and well-known outcomes are demonstrated to be special cases of our findings.

MSC..

https://doi.org/ 10.29304/jqcsm.2024.16.21551

## 1. Introduction

Suppose that  $\mathcal{A} = \{k : \mathbb{U} \to C : k \text{ is anlytic within } \mathbb{U}, k(0) = k'(0) - 1 = 0\}$  is the class of the form's functions

$$k(s) = s + \sum_{n=2}^{\infty} d_n s^n \tag{1.1}$$

and let S be a subclass of A that include every k univalent functions in U. Every function k in S has an inverse  $k^{-1}$ , which makes sure that the Koebe one quarter theorem (see to [4]) satisfies

$$k^{-1}(k(s)) = s, \quad (s \in \mathbb{U})$$

and

$$k(k^{-1}(r)) = r, \quad (|r| < r_0(k), r_0(k) \ge 1/4).$$

<sup>\*</sup>Corresponding author Iqbal Ali Hasoon

Email addresses: lya175448@gmail.com

In fact, the analytic expansion from  $k^{-1}$  to  $\mathbb U$  is

$$k^{-1}(r) = h(r) = r - d_2 r^2 + (2d_2^2 - d_3)r^3 - (5d_2^3 - 5d_2d_3 + d_4)r^4 + \cdots.$$
(1.2)

Within U, if  $(k^{-1} \text{ and } k)$  are both univalent, then the function  $k \in \mathcal{A}$  is considered to be biunivalent in U. The class of biunivalent functions in U provided based on (1.1) is denoted by  $\Sigma$ . See [18] for a abbreviated background and engaging instances from class  $\Sigma$  (also look to [5, 6, 15, 16, 17]).

In S, for any function k, following

$$f(s) = \sqrt[m]{k(s^m)} \qquad (m \in \mathbb{N}, s \in \mathbb{U}),$$

is a function that's univalent and transfers the unit disc  $\mathbb{U}$  to an area with m-fold symmetric. If the function has the normalized form given below, it is considered m-fold symmetric (see to [8]).

$$k(s) = s + \sum_{n=1}^{\infty} d_{mn+1} s^{mn+1} \qquad (s \in \mathbb{U}, m \in \mathbb{N}).$$
(1.3)

The class of m-fold symmetric univalent functions in  $\mathbb{U}$  is denoted by  $\Sigma_m$ , and they are normalized by the series expansion (1.3). Actually, the class S functions are one-fold symmetric.

"In [20] Srivastava *et al.* defined m-fold symmetric biunivalent functions analogues to the concept of m-fold symmetric univalent functions. They gave some important results such as each function  $k \in \Sigma$  generates an m-fold symmetric biunivalent function for each  $m \in \mathbb{N}$ . Furthermore, for the normalized form of k(s) given by (1.3), they obtained the series expansion for  $k^{-1}$  as follows:"

$$h(r) = r - d_{m+1}r^{m+1} + \left[(m+1)d_{m+1}^2 - d_{2m+1}\right]r^{2m+1} - \left[\frac{1}{2}(2+3m)(1+m)d_{m+1}^3 - (2+3m)d_{m+1}d_{2m+1} + d_{3m+1}\right]r^{3m+1} + \cdots,$$
(1.4)

wherever  $k^{-1} = h$ . The class of biunivalent m-fold symmetric function in U is indicated by  $\Sigma_m$ . It's clear that the formula (1.4) and the formula (1.2) of the class  $\Sigma$  coincide for m = 1. The following some illustrations of biunivalent functions that are m-fold symmetry:

$$\left(-\log(1-s^m)\right)^{\frac{1}{m}}$$
,  $\left(\frac{s^m}{1-s^m}\right)^{\frac{1}{m}}$  and  $\left(\frac{1}{2\log\left(\frac{s^m+1}{1-s^m}\right)}\right)^{\frac{1}{m}}$ ,

together with their respective inverse functions

$$\left(\frac{e^{r^m}-1}{e^{r^m}}\right)^{\frac{1}{m}}$$
,  $\left(\frac{r^m}{1+r^m}\right)^{\frac{1}{m}}$  and  $\left(\frac{e^{2r^m}-1}{e^{2r^m}+1}\right)^{\frac{1}{m}}$ ,

respectively. Estimates for different classes of analytic bi-univalent functions that are m-fold symmetric have recently been inverted by many penmen (see to [3,13,21,7,1,19]).

In this work, two new subclasses of function class  $\Sigma_m$  will be formed, and find estimates of initial coefficients for the functions in these new subclasses,  $|b_{m+1}|$  and  $|b_{2m+1}|$ , will be obtained. Links to previously published results are established, and several related classes are also found.

We need the following lemma to obtain our major conclusions.

"Lemma (1.1) [4]: If  $h \in \mathcal{P}$ , then

 $|c_n| \leq 2$  for each  $n \in \mathbb{N}$ ,

where the Carathéodary class  $\mathcal P$  is the family of all functions h, analytic in U, for which

$$Re\{h(s)\} > 0, \qquad (s \in \mathbb{U})$$

and

$$h(s) = 1 + c_1 s + c_2 s^2 + \cdots$$
 ( $s \in U$ ),

the extremal function being given by

$$h(s) = \frac{1+s}{1-s}, \quad (s \in \mathbb{U}).$$

## 2. Bounds on the coefficients for the function subclass $\mathfrak{BM}_{\Sigma_m}(\lambda, \delta; \alpha)$

**Definition 2.1.** A function  $k(s) \in \Sigma_m$ , specified based on (1.3), is said being in the subclass  $\mathfrak{BM}_{\Sigma_m}(\delta, \lambda; \alpha)$  for  $\delta, \lambda \ge 0$  and  $0 < \alpha \le 1$ , if the following conditions are satisfied:

$$\left|\arg\left(\left(\frac{k(s)}{s}\right)^{\delta}\frac{sk'(s)}{k(s)} + \lambda\left[1 + \frac{sk''(s)}{k'(s)} + \delta\left(\frac{sk'(s)}{k(s)} - 1\right) - \frac{sk'(s)}{k(s)}\right]\right)\right| < \frac{\alpha\pi}{2} \qquad (s \in \mathbb{U})$$

$$(2.1)$$

and

$$\left| \arg\left( \left( \frac{h(r)}{r} \right)^{\delta} \frac{rh'(r)}{h(r)} + \lambda \left[ 1 + \frac{rh''(r)}{h'(r)} + \delta \left( \frac{rh'(r)}{h(r)} - 1 \right) - \frac{rh'(r)}{h(r)} \right] \right) \right| < \frac{\alpha \pi}{2} \qquad (r \in \mathbb{U}),$$

$$(2.2)$$

whereby (1.4) gives the function h(r).

**Theorem 2.1.** Let  $k \in \mathfrak{BM}_{\Sigma_m}(\lambda, \delta; \alpha)$ ,  $(s, r \in \mathbb{U}, \lambda \ge 0, \delta \ge 0, 0 < \alpha \le 1$  and  $m \in \mathbb{N}$ ), be specified based on (1.3). Then

$$|d_{m+1}| \le \frac{2\alpha}{\sqrt{\alpha(2\lambda m^3 + \delta^2 + 3\delta m + 2m^2 + 2\lambda\delta m^2) + (1 - \alpha)(\delta + m)^2(1 + \lambda m)^2}}$$
(2.3)

and

$$|d_{2m+1}| \le \frac{2\alpha}{(\delta+2m)(2m\lambda+1)} + \frac{2\alpha^2(m+1)}{(\delta+m)^2(1+\lambda m)^2}.$$
(2.4)

Proof. From (2.1 and 2.2), we get

$$\left(\frac{k(s)}{s}\right)^{\delta} \frac{sk'(s)}{k(s)} + \lambda \left[1 + \frac{sk''(s)}{k'(s)} + \delta \left(\frac{sk'(s)}{k(s)} - 1\right) - \frac{sk'(s)}{k(s)}\right] = [p(s)]^{\alpha}$$

$$(2.5)$$

and

$$\left(\frac{h(r)}{r}\right)^{\delta} \frac{rh'(r)}{h(r)} + \lambda \left[1 + \frac{rh''(r)}{h'(r)} + \delta \left(\frac{rh'(r)}{h(r)} - 1\right) - \frac{rh'(r)}{h(r)}\right] = [q(r)]^{\alpha},$$
(2.6)

the functions p(s) and q(r), which belong to class  $\mathcal{P}$ , possess the depictions of the series shown below:

$$p(s) = 1 + p_m s^m + p_{2m} s^{2m} + p_{3m} s^{3m} + \cdots$$
(2.7)

and

$$q(r) = 1 + q_m r^m + q_{2m} r^{2m} + q_{3m} r^{3m} + \cdots.$$
(2.8)

In (2.5 and 2.6), the coefficients are equated, therefore we find that

$$(\lambda m+1)(\delta+m)d_{m+1} = \alpha p_m, \tag{2.9}$$

$$(\delta+2m)(1+2\lambda m)d_{2m+1} + \left(\delta m - \lambda m^3 - m + \frac{(\delta^2 - \delta)}{2} - 2\lambda m^2 - \delta\lambda m\right)d_{m+1}^2$$

$$\alpha(\alpha-1)$$

$$= \alpha p_{2m} + \frac{\alpha(\alpha - 1)}{2} p_m^2, \tag{2.10}$$

$$-(\delta+m)(1+\lambda m)d_{m+1} = \alpha q_m, \tag{2.11}$$

and

$$(2\delta m + \frac{(\delta^2 - \delta)}{2} + 2m^2 + m + 3\lambda m^3 + 2\lambda m^2 + \delta + 2\lambda\delta m^2 + \lambda\delta m)d_{m+1}^2 - (\delta + 2m)(1 + 2\lambda m)d_{2m+1}$$

$$= \alpha q_{2m} + \frac{\alpha(\alpha - 1)}{2} q_m^2.$$
 (2.12)

Using (2.9 and 2.11), we have

$$p_m = -q_m \tag{2.13}$$

and

$$2(1+\lambda m)^2(m+\delta)d_{m+1}^2 = \alpha^2(p_m^2 + q_m^2).$$
(2.14)

Additionally, a quick calculation based on (2.10), (2.12) and (2.14) reveals that

$$\left( 2\lambda m^3 + \delta^2 + 3\delta m + 2m^2 + 2m^2\lambda\delta \right) d_{m+1}^2 = \alpha(p_{2m} + q_{2m}) + \frac{\alpha(\alpha - 1)}{2}(p_m^2 + q_m^2)$$
$$= \alpha(p_{2m} + q_{2m}) + (\alpha - 1)\frac{(m + \delta)^2(1 + \lambda m)^2}{\alpha} d_{m+1}^2.$$

Therefore, we have

$$d_{m+1}^{2} = \frac{\alpha^{2}(p_{2m} + q_{2m})}{\alpha(2\lambda m^{3} + \delta^{2} + 3\delta m + 2m^{2} + 2m^{2}\lambda\delta) + (1 - \alpha)(m + \delta)^{2}(1 + \lambda m)^{2}}.$$

Lemma (1.1) applied to the coefficient  $p_{2m}$  and  $q_{2m}$  yields

$$|d_{m+1}| \leq \frac{2\alpha}{\sqrt{\alpha(2\lambda m^3 + \delta^2 + 3\delta m + 2m^2 + 2m^2\lambda\delta) + (1-\alpha)(m+\delta)^2(\lambda m+1)^2}}.$$

As stated in (2.3), this provides the required estimate for  $|d_{m+1}|$ .

Next, by deducting (2.12) from (2.10), we can establish the bound on  $|d_{2m+1}|$ 

 $2\big((1+2\lambda m)(\delta+2m)\big)d_{2m+1}-(4\lambda m^2+2m+\delta m+2\delta\lambda m+4\lambda m^3+2m^2+2\lambda\delta m^2+\delta)d_{m+1}^2$ 

$$= \alpha(p_{2m} - q_{2m}) + \frac{\alpha(\alpha - 1)}{2} (p_m^2 - q_m^2).$$
(2.15)

By a simple computation, and using (2.13) to (2.15), we get

$$d_{2m+1} = \frac{\alpha(p_{2m} - q_{2m})}{2(\delta + 2m)(2\lambda m + 1)} + \frac{\alpha^2(p_m^2 + q_m^2)(1 + m)}{4((\delta + m)(1 + \lambda m))^2}$$

Consequently, we see that by reapplying Lemma (1.1) to the coefficients  $p_m$ ,  $p_{2m}$ ,  $q_m$  and  $q_{2m}$ , we get

$$|d_{2m+1}| \le \frac{2\alpha}{(\delta + 2m)(2\lambda m + 1)} + \frac{2\alpha^2(1+m)}{((\delta + m)(1+\lambda m))^2}.$$

This concludes the theorem (2.1) proof.

# 3. Bounds on the coefficients for the function subclass $\mathfrak{BM}_{\Sigma_m}(\lambda, \delta; \beta)$

**Definition 3.1.** A function  $k(s) \in \Sigma_m$ , specified based on (1.4), is said being in the subclass  $\mathfrak{BM}_{\Sigma_m}(\lambda, \delta; \beta)$  for  $\delta, \lambda \ge 0$  and  $0 \le \beta < 1$ , if the following condition are satisfied:

$$Re\left(\left(\frac{k(s)}{s}\right)^{\delta}\frac{sk'(s)}{k(s)} + \lambda\left[1 + \frac{sk''(s)}{k'(s)} + \delta\left(\frac{sk'(s)}{k(s)} - 1\right) - \frac{sk'(s)}{k(s)}\right]\right) > \beta \qquad (s \in \mathbb{U})$$

$$(3.1)$$

and

$$Re\left(\left(\frac{h(r)}{r}\right)^{\delta}\frac{rh'(r)}{h(r)} + \lambda\left[1 + \frac{rh''(r)}{h'(r)} + \delta\left(\frac{rh'(r)}{h(r)} - 1\right) - \frac{rh'(r)}{h(r)}\right]\right) > \beta \qquad (r \in \mathbb{U}),\tag{3.2}$$

whereby (1.4) gives the function h(r).

**Theorem 3.1.** Let  $k \in \mathfrak{BM}_{\Sigma_m}(\lambda, \delta; \beta)$ ,  $(s, r \in \mathbb{U}, \lambda \ge 0, \delta \ge 0, 0 \le \beta < 1$  and  $m \in \mathbb{N}$ ) be specified based on (1.4). Then

$$|d_{m+1}| \le 2\sqrt{\frac{1-\beta}{2\lambda m^3 + \delta^2 + 3\delta m + 2m^2 + 2m^2\lambda\delta}}$$
(3.3)

and

$$|d_{2m+1}| \le \frac{2(1-\beta)}{(\delta+2m)(2\lambda m+1)} + \frac{2(m+1)(1-\beta)^2}{\left((\delta+m)(\lambda m+1)\right)^2}.$$
(3.4)

**Proof.** Initially, the argument inequalities in equations (3.1) and (3.2) can be expressed in the following ways.

$$\left(\frac{k(s)}{s}\right)^{\delta} \frac{sk'(s)}{k(s)} + \lambda \left[1 + \frac{sk''(s)}{k'(s)} + \delta \left(\frac{sk'(s)}{k(s)} - 1\right) - \frac{sk'(s)}{k(s)}\right] = \beta + (1 - \beta)p(s)$$
(3.5)

and

$$\left(\frac{h(r)}{r}\right)^{\delta} \frac{rh'(r)}{h(r)} + \lambda \left[1 + \frac{rh''(r)}{h'(r)} + \delta \left(\frac{rh'(r)}{h(r)} - 1\right) - \frac{rh'(r)}{h(r)}\right] = \beta + (1 - \beta)q(r), \tag{3.6}$$

where the forms of the functions p(s) and q(r), which belong to class  $\mathcal{P}$ , are (2.7 and 2.8), respectively. Now, by equating the coefficient in (3.5) and (3.6), just as in the Theorem (2.1) proof, we have

$$(1 + \lambda m)(\delta + m)d_{m+1} = (1 - \beta)p_m,$$
(3.7)

$$(\delta + 2m)(1 + 2\lambda m)d_{2m+1} + \left(\delta m - \lambda m^3 - m + \frac{(\delta^2 - \delta)}{2} - 2\lambda m^2 - \delta\lambda m\right)d_{m+1}^2$$

$$= (1 - \beta)p_{2m},$$

$$-(1 + \lambda m)(\delta + m)d_{m+1} = (1 - \beta)q_m,$$
(3.9)

and

$$\left(2\delta m + \frac{(\delta^2 - \delta)}{2} + 2m^2 + m + 3\lambda m^3 + 2\lambda m^2 + \delta + 2\lambda \delta m^2 + \lambda \delta m\right) d_{m+1}^2 - (\delta + 2m)(1 + 2\lambda m) d_{2m+1}$$

$$= (1 - \beta)q_{2m}.$$
(3.10)

Using (3.7) and (3.9), we obtain

$$p_m = -q_m \tag{3.11}$$

and

$$2((1+\lambda m)(\delta+m))^2 d_{m+1}^2 = (1-\beta)^2 (p_m^2 + q_m^2).$$
(3.12)

Also, from (3.8) and (3.10), we obtain

$$\left( 2\lambda m^3 + \delta^2 + 3\delta m + 2m^2 + 2m^2\lambda\delta \right) d_{m+1}^2 = (1-\beta)(p_{2m} + q_{2m}) d_{m+1}^2 = (1-\beta)(p_{2m} + q_{2m}) d_{m+1}^2 + (1-\beta)(p_{2m} + q_{2m}) d_{m+1$$

Thus, clearly, we have

$$|d_{m+1}|^2 \leq \frac{(1-\beta)(|p_{2m}|+|q_{2m}|)}{2\lambda m^3 + \delta^2 + 3\delta m + 2m^2 + 2m^2\lambda\delta} \leq \frac{4(1-\beta)}{2\lambda m^3 + \delta^2 + 3\delta m + 2m^2 + 2m^2\lambda\delta}.$$

As stated in (3.3), this provides the required estimate for  $\left|d_{m+1}\right|$  .

Next, by deducting (3.10) from (3.8), we can establish the bound on  $|d_{2m+1}|$ 

$$2(1+2\lambda m)(\delta+2m)d_{2m+1} - ((1+m)(2\lambda m+1)(2m+\delta))d_{m+1}^2 = (1-\beta)(p_{2m}-q_{2m}).$$

Alternatively, equivalently

$$d_{2m+1} = \frac{(1-\beta)(p_{2m}-q_{2m})}{2(1+2\lambda m)(\delta+2m)} + \frac{(1+m)}{2}d_{m+1}^2.$$
(3.13)

When we replace the value of  $d_{m+1}^2$  in (3.12), we obtain

$$d_{2m+1} = \frac{(p_{2m} - q_{2m})(1 - \beta)}{2(\delta + 2m)(1 + 2\lambda m)} + \frac{(1 - \beta)^2(m + 1)(p_m^2 + q_m^2)}{4((\delta + m)(1 + \lambda m))^2}.$$
(3.14)

Consequently, we see that by reapplying Lemma (1.1) to the coefficient  $p_m$ ,  $p_{2m}$ ,  $q_m$  and  $q_{2m}$ , we get

$$|d_{2m+1}| \le \frac{2(1-\beta)}{(2\lambda m+1)(\delta+2m)} + \frac{2(1-\beta)^2(m+1)}{\left((1+\lambda m)(\delta+m)\right)^2}.$$
(3.15)

This concludes the theorem (3.1) proof.

### 4. Consequences and Corollaries

The subclasses  $\mathfrak{BM}_{\Sigma_m}(\lambda, \delta; \alpha)$  and  $\mathfrak{BM}_{\Sigma_m}(\lambda, \delta; \beta)$  reduce to the subclasses  $\mathfrak{BM}_{\Sigma_m}(\delta; \alpha)$  and  $\mathfrak{BM}_{\Sigma_m}(\delta; \beta)$ , respectively, if  $\lambda = 0$  is entered in Definitions (2.1) and (3.1). As a result, Theorems (2.1 and 3.1) reduce to Corollaries (4.1 and 4.2), respectively.

The subclasses  $\mathfrak{BM}_{\Sigma_m}(\delta; \alpha)$  and  $\mathfrak{BM}_{\Sigma_m}(\delta; \beta)$  have the following definitions:

**Definition 4.1.** A function  $k(s) \in \Sigma_m$  specified based on (1.3) is said belong to the subclass  $\mathfrak{BM}_{\Sigma}(\delta; \alpha)$  for  $\delta \ge 0$  and  $0 < \alpha \le 1$ , if each of the following requirements is met:

$$\left|\arg\left(\left(\frac{k(s)}{s}\right)^{\delta}\frac{sk'(s)}{k(s)}\right)\right| < \frac{\alpha\pi}{2} \qquad (s \in \mathbb{U})$$

and

$$\left| \arg\left( \left( \frac{h(r)}{r} \right)^{\delta} \frac{rh'(r)}{h(r)} \right) \right| < \frac{\alpha \pi}{2} \qquad (r \in \mathbb{U})$$

whereby (1.4) gives the function h(r).

**Definition 4.2.** A function  $k(s) \in \Sigma_m$  specified based on (1.3) is said belong to the subclass  $\mathfrak{BM}_{\Sigma}(\delta;\beta)$  for  $\delta \ge 0$  and  $0 \le \beta < 1$ , if each of the following requirements is met:

$$Re\left(\left(\frac{k(s)}{s}\right)^{\delta}\frac{sk'(s)}{k(s)}\right) > \beta$$
  $(s \in \mathbb{U})$ 

and

$$Re\left(\left(\frac{h(r)}{r}\right)^{\delta}\frac{rh'(r)}{h(r)}\right) > \beta$$
  $(r \in \mathbb{U})$ 

whereby (1.4) gives the function h(r).

**Corollary 4.1.** Assume that  $k(s) \in \Sigma_m$ , as shown based on (1.3), belongs to the class  $\mathfrak{BM}_{\Sigma}(\delta; \alpha)$ . Then

$$|d_{m+1}| \leq \frac{2\alpha}{\sqrt{\alpha(\delta^2 + 3\delta m + 2m^2) + (1 - \alpha)(\delta + m)^2}}$$

and

$$|d_{2m+1}| \le \frac{2\alpha}{(\delta+2m)} + \frac{2\alpha^2(1+m)}{(\delta+m)^2}$$

**Corollary 4.2.** Assume that  $k(s) \in \Sigma_m$ , as shown based on (1.3), belongs to the class  $\mathfrak{BM}_{\Sigma}(\delta; \alpha)$ . Then

$$|d_{m+1}| \le 2\sqrt{\frac{1-\beta}{\delta^2 + 3\delta m + 2m^2}}$$

and

$$|d_{2m+1}| \le \frac{2(1-\beta)}{(\delta+2m)} + \frac{2(m+1)(1-\beta)^2}{(\delta+m)^2}$$

The subclasses  $\mathfrak{BM}_{\Sigma_m}(\lambda, \delta; \alpha)$  and  $\mathfrak{BM}_{\Sigma_m}(\lambda, \delta; \beta)$  reduce to the subclasses  $\mathfrak{BM}_{\Sigma}(\lambda, \delta; \alpha)$  and  $\mathfrak{BM}_{\Sigma}(\lambda, \delta; \beta)$ , respectively, for one-fold symmetric analytic biunivalent functions. As a result, Theorems (2.1 and 3.1) reduce to Corollaries (4.3 and 4.4), respectively.

The subclasses  $\mathfrak{BM}_{\Sigma}(\lambda, \delta; \alpha)$  and  $\mathfrak{BM}_{\Sigma}(\lambda, \delta; \beta)$  have the following definitions:

**Definition 4.3.** A function  $k(s) \in \Sigma$  specified based on (1.1) is said belong to the subclass  $\mathfrak{BM}_{\Sigma}(\lambda, \delta; \alpha)$  for  $\delta, \lambda \ge 0$  and  $0 < \alpha \le 1$ , if each of the following requirements is met:

$$\arg\left(\left(\frac{k(s)}{s}\right)^{\delta}\frac{sk'(s)}{k(s)} + \lambda\left[1 + \frac{sk''(s)}{k'(s)} + \delta\left(\frac{sk'(s)}{k(s)} - 1\right) - \frac{sk'(s)}{k(s)}\right]\right)\right| < \frac{\alpha\pi}{2} \qquad (s \in \mathbb{U})$$

and

$$\left| \arg\left( \left( \frac{h(r)}{r} \right)^{\delta} \frac{rh'(r)}{h(r)} + \lambda \left[ 1 + \frac{rh''(r)}{h'(r)} + \delta \left( \frac{rh'(r)}{h(r)} - 1 \right) - \frac{rh'(r)}{h(r)} \right] \right) \right| < \frac{\alpha \pi}{2} \qquad (r \in \mathbb{U}),$$

whereby (1.2) gives the function h(r).

**Definition 4.4.** A function  $k(s) \in \Sigma$  specified based on (1.1) is said belong to the subclass  $\mathfrak{BM}_{\Sigma}(\lambda, \delta; \beta)$  for  $\delta, \lambda \ge 0$  and  $0 \le \beta < 1$ , if each of the following requirements is met:

$$Re\left(\left(\frac{k(s)}{s}\right)^{\delta}\frac{sk'(s)}{k(s)} + \lambda\left[1 + \frac{sk''(s)}{k'(s)} + \delta\left(\frac{sk'(s)}{k(s)} - 1\right) - \frac{sk'(s)}{k(s)}\right]\right) > \beta \qquad (s \in \mathbb{U})$$

and

$$Re\left(\left(\frac{h(r)}{r}\right)^{\delta}\frac{rh'(r)}{h(r)} + \lambda\left[1 + \frac{rh''(r)}{h'(r)} + \delta\left(\frac{rh'(r)}{h(r)} - 1\right) - \frac{rh'(r)}{h(r)}\right]\right) > \beta \qquad (r \in \mathbb{U}),$$

whereby (1.2) gives the function h(r).

**Corollary 4.3.** Assume that k(s) as shown based on (1.1), belongs to the class  $\mathfrak{BM}_{\Sigma}(\lambda, \delta; \alpha)$ . Then

$$|d_2| \leq \frac{2\alpha}{\sqrt{\alpha(2\lambda + \delta^2 + 3\delta + 2 + 2\lambda\delta) + (1 - \alpha)(\delta + 1)^2(1 + \lambda)^2}}$$

and

$$|d_3| \le \frac{2\alpha}{(\delta+2)(2\lambda+1)} + \frac{4\alpha^2}{(\delta+1)^2(1+\lambda)^2}.$$

**Corollary 4.4.** Assume that k(s) as shown based on (1.1) ), belongs to the class  $\mathfrak{BM}_{\Sigma}(\lambda, \delta; \beta)$ . Then

$$|d_2| \le 2 \sqrt{\frac{1-\beta}{\left(2\lambda + \delta^2 + 3\delta + 2 + 2\lambda\delta\right)}}$$

and

$$|d_3| \le \frac{2(1-\beta)}{(2+\delta)(2\lambda+1)} + \frac{4(1-\beta)^2}{(1+\delta)^2(1+\lambda)^2}$$

Remark 4.1. For m-fold symmetric biunivalent functions:

1) If we make  $\lambda = 0$  and  $\delta = 0$  in Th. (2.1) and Th. (3.1), we acquire the matching outcomes provided by Altinkaya and Yalcin [2].

- 2) If we make  $\lambda = 1$  and  $\delta = 0$  in Th. (2.1) and Th. (3.1), we acquire the matching outcomes provided by Kumar et al. [9].
- 3) If we make  $\lambda = 0$  and  $\delta = 1$  in Th. (2.1) and Th. (3.1), we acquire the matching outcomes provided by Srivastava et al. [20].
- 4) If we make  $\delta = 0$  in Th. (2.1) and Th. (3.1), we acquire the matching outcomes provided by Sivasubamanlan and Sivakumar [14].

**Remark 4.2.** For one-fold symmetric biunivalent functions:

- 1) If we make  $\delta = 0$  in Th. (2.1) and Th. (3.1), we acquire the matching outcomes provided by Li and Wang [10].
- 2) If we make  $\lambda = 0$  in Th. (2.1) and Th. (3.1), we acquire the matching outcomes provided by Prima and Keerthi [12].
- 3) If we make  $\delta = 0, \lambda = 0$  in Th. (2.1) and Th. (3.1), we acquire the matching outcomes provided by Murugusundaramoorthy et al. [11].
- 4) If we make  $\delta = 0, \lambda = 1$  in Th. (2.1) and Th. (3.1), we acquire the matching outcomes provided by Kumar et al. [9].
- 5) If we make  $\delta = 1, \lambda = 0$  in Th. (2.1) and Th. (3.1), we acquire the matching outcomes provided by Srivastava et al. [18].

#### References

- A. M. A. Al-Asadi and N. A. J. Al-Ziadi, Maclaurin Coefficient Estimates for a New General Subclasses of m-Fold Symmetric Holomorphic Bi-Univalent Functions, Earthline Journal of Mathematical Science, 13(1)(2023), 251-265.
- [2] Ş. Altinkaya and S. Yalçin, Coefficient bounds for certain subclasses of *m*-fold symmetric bi-univalent functions, Journal of Mathematics, Art. ID 241683 (2015), 1-5.
- [3] W. G. Atshan and N. A. J. Al-Ziadi, Coefficients bounds for a general subclasses of m-fold symmetric bi-univalent functions, J. Al-Qadisiyah Comput. Sci. Math., 9(2)(2017),33-39.
- [4] P. L. Duren, Univalent Functions, Grundlehren der Mathematischen Wissenschaften, Band 259 Springer Verlag, New York, Berlin, Heidelberg and Tokyo, 1983.
- [5] B. A. Frasin and M. K. Aouf, New subclasses of bi-univalent functions, Appl. Math. Lett., 24(2011), 1569-1573.
- [6] S. P. Goyal and P. Goswami, Estimate for initial Maclaurin coefficients of bi-univalent functions for a class defined by fractional derivatives, J. Egyptian Math. Soc., 20(2012), 179-182.
- [7] L. H. Hassan and N. A. J. Al-Ziadi, Initial Coefficient Estimates for New Families of m-Fold Symmetric Bi-Univalent Functions, Earthline Journal of Mathematical Science, 13(1)(2023), 235-249.
- [8] W. Koepf, Coefficients of symmetric functions of bounded boundary rotations, Proc. Amer. Math. Soc., 105(1989), 324-329.
- [9] T. R. K. Kumar, S. Karthikeyan, S. Vijayakumar and G. Ganapathy, Initial coefficient estimates for certain subclasses of m-fold symmetric biunivalent functions, Advances in Dynamical Systems and Applications 16(2) (2021), 789-800.
- [10] X. F. Li and A. P. Wang, Two new subclasses of bi-univalent functions, Int. Math. Forum, 7(2012), 1495-1504.
- [11] G. Murugusundaramoorthy, N. Magesh and V. Prameela, Coefficient bounds for certain subclasses of bi-univalent functions, Abstract and Applied Analysis, vol. 2013, Article ID 573017, 3 pages, 2013.
- [12] S. Prema and B. S. Keerthi, Coefficient bounds for certain subclasses of analytic function, J. Math. Anal., 4(1)(2013), 22-27.
- [13] A. M. Ramadhan and N. A. J. Al-Ziadi, Coefficient bounds for new subclasses of m-fold symmetric holomorphic bi-univalent functions, Earthline Journal of Mathematical Sciences, 10(2)(2022), 227-239.
- [14] S. Sivasubramanian and R. Sivakumar, Initial coefficient bound for *m*-fold symmetric bi- $\lambda$ -convex functions, J. Math. Inequalities 10(3) (2016), 783-791.
- [15] H. M. Srivastava and D. Bansal, Coefficient estimates for a subclass of analytic and bi-univalent functions, J. Egyptian Math. Soc., 23(2015), 242-246.
- [16] H. M. Srivastava, S. Bulut, M. Caglar and N. Yagmur, Coefficient estimates for a general subclass of analytic and bi-univalent functions, Filomat, 27(5)(2013), 831-842.
- [17] H. M. Srivastava, S. S. Eker and R. M. Ali, Coefficient bounds for a certain class of analytic and bi-univalent functions, Filomat, 29(2015), 1839-1845.
- [18] H. M. Srivastava, A. K. Mishra and P. Gochhayat, Certain subclasses of analytic and bi-univalent functions, Appl. Math. Lett., 23(2010), 1188-1192.
- [19] H. M. Srivastave, P. O. Sabir, S. S. Eker, A. K. Wanas, P. O. Mohammed, N. Chorfi and D. Baleanu, Some m-fold symmetric bi-univalent function classes and their associated Taylor-Maclaurin coefficient bounds, Journal of Inequalities and Applications, 47 (2024), 1-18.
- [20] H. M. Srivastava, S. Sivasubramanian and R. Sivakumar, Initial coefficient bounds for a subclass of *m*-fold symmetric bi-univalent functions, Tbilisi Math. J., 7(2)(2014), 1-10.
- [21] A. K. Wanas and H. K. Raadhi, Maclaurin coefficient estimates for a new subclasses of m-fold symmetric bi-univalent functions, Earthline Journal of Mathematical Sciences, 11(2)(2023), 2581-8147.